PROBABILITY TREES - PRACTICE QUESTIONS

1

4.

Amy is going to a fast food stand.

She can buy a burger or a hot dog, and a tea or a coffee. metatutor

The probability tree below shows the probability of buying each item.

(a) Complete the probability tree.

10 Tea
Burger
3
/)
© Coffee
)é;n 2/; ) Tea
Hot dog
3
/1o Coffee

(b) What is the probability that Amy buys a burger and a tea?
3,3 _ 43
Ly \o T 40
(c) What is the probability that Amy buys a hot dog and a coffee?
L xi_- L
4 lo — LO
2.

Brett is going to play a video game twice.
The probability that Brett wins the game is é.

(a) Complete the probability tree.

Win
L. Win
é
Lose
e Wi
‘5‘ Lose L -
€
":S L
ose
G

(b) What is the probability that Brett loses twice?
S x5S _ A5
e 67 3¢



3.
Carlene is going to the supermarket.

The probability that she buys chocolate is é
The probability that she buys milk is ;

(a) Complete the probability tree.

= Chocolate
L Milk
g 3
j No Chocolate
! r 3 Chocolate
E’ No Milk
3
"5"" No Chocolate
(b) What is the probability that Carlene buys milk but not chocolate?
7 03 oz
3 X Lo
4.
The probability that it snows is 0.04.
If it snows, the probability that school is closed is 0.5.
If it doesn’t snow, the probability that school is closed is 0.01.
(a) Complete the probability tree.
0.5 Closed
o .Ok Snow
O‘S Open
o 0.0} Closed
9 8 No Snow
O
qq Open

(b) What is the probability that school is closed?
0.04 X0 .S= 0.0
0.46 X 0.01= ©.0096

6.0L+0.0088 = 0.0296




5.

Douglas is going to throw two darts at bullseye.

The probability of the first throw hitting the bullseye is 0.08.

If the first throw hits, the probability of the second throw hitting is 0.04.

If the first throw misses, the probability of the second throw hitting is 0.09.

(a) Complete the probability tree.

o 04 Hit
0.08 Hit
0 ’ 96 Miss
0.04 Hit
0. qz Miss
O,c“ Miss

(b) What is the probability that Douglas hits the bullseye only once?
0.08 %X 0.90= 0.0168
692 X 0.09= 0. 022.8

0.07634+0.03°28 = 0.154¢

6.

Edwin has a bag of marbles.

The bag contains 7 green marbles and S blue marbles.

He is going to pick two marbles from the bag, with replacement.

(a) Complete the probability tree.

B 4
12 Green
...Z.. Green
/ 3
R Blue

fa.
= li Green
B o <
S
' ' T;_, Blue

=2
12X 157 T
S xS = 25
2 122 T




7.

Fiona has a box of chocolates.

The box contains 11 caramel chocolates and 9 plain chocolates.

She is going to pick two chocolates at random, without replacement.

(a) Complete the probability tree. 10
TG Caramel
1
“ZO Caramel
a
NG Plain
38 Caramel
X Plain :
20
% Plain
(b) What is the probability that F1ona p1cks two plain chocolates?
a x 8] -
20 9
(c) What is the probability that Fiona picks a caramel and a plain chocolate?
413 L x L 3 - X
- O
9= 3 19 499 —
) -
.ﬁ.,. x L = 49 380 320
20 220
8.
Glyn has a deck of 25 cards.
11 of the cards are black and the rest are red.
He is going to pick two cards from the deck, without replacement.
(a) Complete the probability tree. 10
fﬁr Black
1A
:- Black
{
24. Red
Ve ‘i‘!",_‘, Black
— Red
235
13
_2‘[’ Red

(b) What is the probability that Glyn does not pick a red card?
L)
25




9.

Harriet has a tin of biscuits.

The tin contains 12 custard creams, 15 rich teas and 11 digestives.

She is going to pick two biscuits from the tin to eat. = i thout repla ce Me,—f*‘

(a) Complete the probability tree.

1
g']' Custard Cream
15
Custard 37 Rich Tea
Cream
v L LN
':q;g 37 Digestive

97,3 4 Custard Cream

4
38 Rich Tea /37 Rich Tea

It
37 Digestive
3R 12 ' Custard Cream
3
/37

Digestive
Rich Tea

37 Digestive

(b) What is the probability that Harriet eats two digestives?
4Ly JO _ SS
387 397 703

(c) What is the probability that Harriet eats a rich tea and a custard cream?

'l .90
38" 37~ 703 a0
IS 12 - 9o 703
87397 553
(d) What is the probability that Harriet eats two biscuits of the same type?
Two a;_g«asﬁves = 35 Two RT= S X Y - los
203 - 35 27 972
a Yo oW . F
Tws CC = -_g-éx-g':,» é.éz _§_‘§_+§2 108 _ {
(e) What is the probability that Harriet eats two different biscuits?
| — 226 _ |




10.
A bag contains 18 yellow counters and 12 blue counters.

Imran is going to pick two counters from the bag, without replacement.

(@) Complete the probability tree. ' (7
E:E? Yellow
1%
-g“"' Yellow
'I'é%q Blue
i2 13/ 24 Yellow
"""5 Blue
£
ﬁ Blue

(b) What is the probability that Imran picks two counters of different colours?

_.Lé., X V2 _ 36__
207227 wg 36 436 - (1
A sa 1 w3 s g \ 145

307247 Tus

Jasmine is going to pick two counters from the same bag, with replacement.

(c) Complete the probability tree. 13
fj""a Yellow
1%
,...,-é Yellow
2.
“3‘_’0 Blue
V2 13/3 o Yellow
— Blue
[{s)
it Bl
30 ue
(d) What is the probability that Jasmine picks two counters of different colours?
W LeaN
Moyt = 6 G 6 /12
D307 25 L 2 T =
25 25 \35

(e) Who is more likely to pick two counters of different colours — Imran or Jasmine?

T mron = '7'2' - 0.496S ...

Tasminez ==z Ou4b




11.

Kristina is playing a game with two fair six-sided dice.
She is going to roll the dice. _

She wins the game if she rolls both numbers less than 3.

(a) Complete the tree diagram. 2
6 wd
Z <3
. ke
23
o
A 5
<
£
mfuﬂ >3
&

(b) What is the probability that Kristina wins the game?
V0 P
€6 " 9

(c) What is the probability that Kristina loses the game?
| —L ~ 8

g — =

12. 4

Leo is packing his school lunch.
He is going to pick two items of fruit at random from his fruit bowl and take them to

school.
The fruit bowl contains 4 apples and 10 oranges.

(a) Complete the probability tree.

3

f3 Apple

i" Appl

T PP ~

_ "'i'é Orange

1) "A3 Apple
Vi Orange

"iﬂ'-g Orange
(b) What is the probability that Leo picks an apple and an orange?

L0 = 20
) by 13 7 9l 20 20 & 0
10 v ?:{*ﬁ")
10 X — 20 £

| iy \3?:‘(;




13.

In Henry’s wardrobe, he has t-shirts and jumpers.

He has 8 white t-shirts, 5 black jumpers, 12 red t-shirts and 4 red jumpers.
He is going to pick a jumper and a t-shirt at random from the wardrobe.

(a) Complete the probability tree.
Black jumper

& <

£ White
20 t-shirt :

'"c'i" Red jumper
2 5 Black jumper
So— Red
20 t-shirt

%‘r Red jumper

(b) What is the probability that Henry picks a white t-shirt and a black jumper?

Lol -
9 T =5

(c) What is the probability that Henry picks only one red item of clothing?

b _ 3
X5 = 7 ._.Z_..,,,J..:@S,
251 4s 3 \4S
.?;.Q g~ 3
14,

If it rains, the probability that the bus is late is 0.4.
If it doesn’t rain, the probability that the bus is late is 0.34.

The probability of it raining is 0.28.

What is the probability that the bus is latc?/ Loate

Rauwn —
23~ ~— .
O 0.6 ~0n + Mme
i - 1.3k Late
O' ')-5:\*\ Na . MW’“‘W
" Reaun

0, g%m On 'hme

028x0.4-= O, -
OMLEO024LB= ORSED
O, 12X 0.3 = n. 248 T




15.
Ned has two fair spinners, pictured below.

Ned is going to spin both spinners.

Work out the probability that Ned lands on the same colour twice.

S Blue

S
2 0
-%' Civeen



16.

Olga has a deck of 30 playing cards.

There are 11 spades, 15 hearts and 4 diamonds.

She is going to pick two cards from the deck, without replacement.

What is the probability that Olga does not pick a heart?

'O Spade

/
| '5,
S p&d? - Zs Heast

29

Niomo a6

Diamo/lé

/%f Syade

~ Biamend ~ TV

=
28 Diotend

3028~ 57
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